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Answer all six questions.

Modules 1 to 6:Part'a' of each question is compulsory and answer either part 'b' or part'c' of each question.
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Q.no.

l.a

Module 2Q.no.

2.a How every IPC patterns includes the signalling pattern.

Answer b or c

b Discuss in detail about the strategies for dealing with deadlock.

c Compare the producer consumer model and client server model.

Q.no. Module 3

3.a What you mean by dynamic linking?

Module 1

How can we improve effrciency by virtualizing a hardware resource?

Answer b or c

Write the execution procedure when forkQ system call is called for
continuously 3 times.

How the little languages helps the design process of an operating system?
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Answer b or c

b Using page reference strings 1,2,3,2,402,5,2,3,4 compare the page replacement 
6

algorithms FCFS, Optimal, LRU and Clock. Consider the number of frames as

J.

Why is LRU a good page replacement algorithm?
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Hwp6si6galtsfrinal s/orks?

Disess irl @if *wdq**e buff€ring.''...
What yCIr nrean by di* cac*ring?

Q.no. MoGu*e 5

5.a Wrat is the we of file *scr*gors in fih management?

Awrer b or c

b What you rnean by bgifsl file system? How can we map it wift the ftysical
" fileqr*e*r?

e Expl*hhawdi*$+ f1{s di*.
,,,,,,.:a,.:
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. .' Hl*hle:6

What is the imp*tacc of cr{ring?

b Expla*arySTgstffi rdel in detail.

c 'Hws 
we u*e acoess eordrol list and capability for protection of rwurccs?
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